

#### Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: May 1, 2025

Progress Estimate Number	Contract ID	241018-B02	Pay Period Start April 16, 202	5 Original Contract Amount \$2,452,747.66
4	Prime Contracto	or Capital Paving & Construction	, LLC Pay Period End May 1, 2025	Net Change Order Amount \$156,555.92
•				Current Contract Amount \$2,609,303.58

Approval Date		By User
May 1, 2025	Generated and Approved (and should be considered Draft) at the Project Office Level by	vierss
May 1, 2025	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by	vierss
May 5, 2025	Reviewed and Approved at the Central Office Controllers Office Level by	ramses1

Original Completion Date	Current Completion Date	Actual Completion Date	% of Current Contract Amount Complete
November 1, 2025	November 1, 2025	April 23, 2025	99.51%

	Contract Informational Dates								
Date Description	Original Completion Date	<b>Current Completion Date</b>	No Milestones Exist for Contract						
Acceptance Date	April 23, 2025	April 23, 2025							
Awarded Date	November 8, 2024	November 8, 2024							
Letting Date	October 18, 2024	October 18, 2024							
Notice to Proceed Date	December 9, 2024	December 9, 2024							
Open to Traffic Date	April 23, 2025	April 23, 2025							
Work Began Date	March 24, 2025	March 24, 2025							

Contract Total Pa	ay For Estimate No. 4			
		This Estimate	Previous	To Date
241018-B02				
	Total Posted Items Pay	\$328,248.66	\$2,268,252.49	\$2,596,501.15
	Gross Item Adjustments	\$75,437.20	(\$65,962.70)	\$9,474.50
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damage	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
	•		\$2,202,289.79	\$2,605,975.65
Contract Total Pa	avable This Estimate:	\$403.685.86		

#### Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
JNE0040	0070	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.130	60,014	\$7,801.82
	0800	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.130	69,509	\$9,036.17
Project JN	E0040 - To	otal					\$16,837.99
JNE0078	0110	3105002	GRAVEL (A) OR CRUSHED STONE (B)	TONS	\$170.880	62	\$10,594.56
	0130	4029910	MISC.REPLACEMENT OF DAMAGED PAVEMENT	TONS	\$188.050	1.1	\$206.86
	0170	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.140	29,501	\$4,130.14
	0180	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.140	26,871	\$3,761.94
	0190	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	SQYD	\$48.110	-4	(\$192.44)
	0210	6229905	MISC.REMOVAL OF DAMAGED PAVEMENT	SQYD	\$41.840	16	\$669.44
Project JN	E0078 - To	otal					\$19,170.50
JNE0079	0220	3105002	GRAVEL (A) OR CRUSHED STONE (B)	TONS	\$155.170	273	\$42,361.41
	0230	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	TONS	\$85.390	2,613.95	\$223,205.19
	0250	4071005	TACK COAT	GAL	\$2.780	2,329	\$6,474.62
	0280	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.130	86,767	\$11,279.71
	0290	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING	LF	\$0.120	74,327	\$8,919.24

Revision 3/23/2023 Page 1 of 11



#### Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: May 1, 2025

Progress Estimate Number
4

Contract ID 241018-B02 Pay Period Start April 16, 2025 Original Contract Amount \$2,452,747.66

Prime Contractor Capital Paving & Construction, LLC Pay Period End May 1, 2025

Current Contract Amount \$2,659,303.58

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount		
JNE0079			PAINT, TYPE P BEADS	NT, TYPE P BEADS					
Project JN	Project JNE0079 - Total								
Overall - T	Overall - Total								

#### **Contract Adjustments This Estimate**

No Contract Adjustments Exist on Contract

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JNE0040	0010	GRAVEL (A) OR CRUSHED STONE (B)	Overrun		Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',153.18000 - 153.18000, 'is applied (if non-zero).	71	\$153.18	\$10,875.78
	0020	MIXTURE PG58-28H adjustments for installed quantity on a previous payment estimates. Pric Adjustments of ',94.62049 - 94.74000, '		Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',94.62049 - 94.74000, 'is applied (if non-zero).	400.49	\$94.62	\$37,894.56	
	0070	4 IN. WHITE STANDARD Material WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS				-60,014	\$0.13	(\$7,801.82)
	0070	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0008) due to user terrej2 overridding Payment Estimate Exception 3 on the current Payment Estimate.	60,014	\$0.13	\$7,801.82
	0080	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material			-69,509	\$0.13	(\$9,036.17)
	0080	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0009) due to user terrej2 overridding Payment Estimate Exception 9 on the current Payment Estimate.	69,509	\$0.13	\$9,036.17
	0090	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	Overrun		Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',19.06000 - 19.06000, 'is applied (if non-zero).	310	\$19.06	\$5,908.60
JNE0078	0120	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	Overrun		Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',91.72341 - 91.75000, 'is applied (if non-zero).	142.23	\$91.72	\$13,045.82
	0140	TACK COAT	Overrun		Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',2.83000 - 2.83000, 'is applied (if non-zero).	103	\$2.83	\$291.49
	0170	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material			-29,501	\$0.14	(\$4,130.14)
	0170	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0003) due to user terrej2	29,501	\$0.14	\$4,130.14

Revision 3/23/2023 Page 2 of 11



#### Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: May 1, 2025

Progress Estimate Number
4 Contract ID 241018-B02 Pay Period Start April 16, 2025 Original Contract Amount \$2,452,747.66
Prime Contractor Capital Paving & Construction, LLC Pay Period End May 1, 2025 Original Contract Amount \$156,555.92
Current Contract Amount \$2,609,303.58

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JNE0078		BEADS			overridding Payment Estimate Exception 1 on the current Payment Estimate.			
	0180	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material			-26,871	\$0.14	(\$3,761.94)
	0180	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0004) due to user terrej2 overridding Payment Estimate Exception 7 on the current Payment Estimate.	26,871	\$0.14	\$3,761.94
	0190	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	Overrun		Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',48.11000 - 48.11000, 'is applied (if non-zero).	4	\$48.11	\$192.44
	0200	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	Overrun		Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',31.21000 - 31.21000, 'is applied (if non-zero).	184	\$31.21	\$5,742.64
JNE0079	0230	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	2,613.95	(\$0.03)	(\$69.43)
	0230	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	Other Item Adjustment	Asphalt Cement Price Adjustment	AC adjustment for Route BB on estimate 0004.			\$1,555.30
	0280	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material			-86,767	\$0.13	(\$11,279.71)
	0280	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0012) due to user terrej2 overridding Payment Estimate Exception 5 on the current Payment Estimate.	86,767	\$0.13	\$11,279.71
	0290	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material			-74,327	\$0.12	(\$8,919.24)
	0290	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0013) due to user terrej2 overridding Payment Estimate Exception 11 on the current Payment Estimate.	74,327	\$0.12	\$8,919.24
Total								\$75,437.20

Revision 3/23/2023 Page 3 of 11



#### Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(	Contract Project Information				
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work			
JNE0040	FAS- S203 (014)	Resurface	DD	RANDOLPH	from County Road 165	50 to Route 24 in Moberly				
JNE0078	FAS S203(36)	Resurface	D	RANDOLPH	from Route C near Hui	from Route C near Huntsville to Route BB				
JNE0079	FAS S203(23)	Resurface	BB	RANDOLPH	from Route 3 to Route	A near Moberly				
Totals by J	lob Numbe	rs								
JNE0040		d Item Pay Item Adjustm		iltem Pay	This Estimate \$16,837.99 \$54,678.94 <b>\$71,516.93</b>	Previous \$1,132,865.03 (\$53,344.97) \$1,079,520.06	<b>To Date</b> \$1,149,703.02 \$1,333.97 <b>\$1,151,036.99</b>			
	Disinc Liquid	Incentive Disincentive Liquidated Damages Other Contract Adjustments			\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00			
JNE0078		Posted Item Pay Gross Item Adjustments Gross Item Pay			This Estimate \$19,170.50 \$19,272.39 \$38,442.89	Previous \$334,071.56 (\$17,483.50) \$316,588.06	To Date \$353,242.06 \$1,788.89 \$355,030.95			
	Disinc Liquid	Incentive Disincentive Liquidated Damages Other Contract Adjustments			\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00			
JNE0079		d Item Pay Item Adjustm		Item Pay	This Estimate \$292,240.17 \$1,485.87 <b>\$293,726.04</b>	Previous \$801,315.90 \$4,865.77 \$806,181.67	To Date \$1,093,556.07 \$6,351.64 \$1,099,907.71			
					\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00			

Revision 3/23/2023 Page 4 of 11



#### Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

**Exceptions (Discrepancies) This Estimate Period** 

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project JNE0078, Item 6206000C, Project Item Line Number 0170, Material Set 6206000C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	No Remark was entered by Engineer	terrej2	Overridden
Estimate Exception Type: Insufficient Materials: Project JNE0078, Item 6206000C, Project Item Line Number 0170, Material Set 6206000C96, Material 1048PMTRWBWH - Marking Paint Acrylic Waterborne White, Acceptance Action Generic 1048PMTRWBWH is insufficient.	No Remark was entered by Engineer	terrej2	Overridden
Estimate Exception Type: Insufficient Materials: Project JNE0040, Item 6206000C, Project Item Line Number 0070, Material Set 6206000C96, Material 1048PMTRWBWH - Marking Paint Acrylic Waterborne White, Acceptance Action Generic 1048PMTRWBWH is insufficient.	No Remark was entered by Engineer	terrej2	Overridden
Estimate Exception Type: Insufficient Materials: Project JNE0040, Item 6206000C, Project Item Line Number 0070, Material Set 6206000C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	No Remark was entered by Engineer	terrej2	Overridden
Estimate Exception Type: Insufficient Materials: Project JNE0079, Item 6206000C, Project Item Line Number 0280, Material Set 6206000C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	No Remark was entered by Engineer	terrej2	Overridden
Estimate Exception Type: Insufficient Materials: Project JNE0079, Item 6206000C, Project Item Line Number 0280, Material Set 6206000C96, Material 1048PMTRWBWH - Marking Paint Acrylic Waterborne White, Acceptance Action Generic 1048PMTRWBWH is insufficient.	No Remark was entered by Engineer	terrej2	Overridden
Estimate Exception Type: Insufficient Materials: Project JNE0078, Item 6206001C, Project Item Line Number 0180, Material Set 6206001C96, Material 1048PMTRWBYL - Marking Paint Acrylic Waterborne Yellow, Acceptance Action Generic 1048PMTRWBYL is insufficient.	No Remark was entered by Engineer	terrej2	Overridden
Estimate Exception Type: Insufficient Materials: Project JNE0078, Item 6206001C, Project Item Line Number 0180, Material Set 6206001C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	No Remark was entered by Engineer	terrej2	Overridden
Estimate Exception Type: Insufficient Materials: Project JNE0040, Item 6206001C, Project Item Line Number 0080, Material Set 6206001C96, Material 1048PMTRWBYL - Marking Paint Acrylic Waterborne Yellow, Acceptance Action Generic 1048PMTRWBYL is insufficient.	No Remark was entered by Engineer	terrej2	Overridden
Estimate Exception Type: Insufficient Materials: Project JNE0040, Item 6206001C, Project Item Line Number 0080, Material Set 6206001C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	No Remark was entered by Engineer	terrej2	Overridden
Estimate Exception Type: Insufficient Materials: Project JNE0079, Item 6206001C, Project Item Line Number 0290, Material Set 6206001C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	No Remark was entered by Engineer	terrej2	Overridden
Estimate Exception Type: Insufficient Materials: Project JNE0079, Item 6206001C, Project Item Line Number 0290, Material Set 6206001C96, Material 1048PMTRWBYL - Marking Paint Acrylic Waterborne Yellow, Acceptance Action Generic 1048PMTRWBYL is insufficient.	No Remark was entered by Engineer	terrej2	Overridden

Revision 3/23/2023 Page 5 of 11



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

-osteu Quanti	uco ana	values	J GIO DI	acca cii i k	eport Generaled date and can dilier from the posted amo	unit at the t	ino alo L	oumate <b>m</b> ac	Genera	itou.		
ntract Proj NTRACT No		egory	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
3-B02 JNEO	0040 000	01	0010	3105002	GRAVEL (A) OR CRUSHED STONE (B)	210.00	71.00	281.00	TONS	281.00	\$153.18	\$43,043.58
	000	01	0020	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	9,445.80	400.49	9,846.29	TONS	9,846.29	\$94.74	\$932,837.51
	000	01	0030	4029910	MISC.REPLACEMENT OF DAMAGED PAVEMENT	200.00	-199.60	0.40	TONS	0.40	\$151.14	\$60.46
	000	01	0040	4071005	TACK COAT	10,745.00	-201.00	10,544.00	GAL	10,544.00	\$2.77	\$29,206.8
	000	101	0050	6169901	MISC.LUMP SUM TEMPORARY TRAFFIC CONTROL	1.00	0.00	1.00	LS	0.95	\$15,212.06	\$14,451.4
	000	01	0060	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$84,525.36	\$84,525.3
	000	101	0070	6206000C	$4\ \mbox{IN}.$ WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	75,018.00	0.00	75,018.00	LF	60,014.00	\$0.13	\$7,801.8
	000	01	0800	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	86,886.00	0.00	86,886.00	LF	69,509.00	\$0.13	\$9,036.1
	000	01	0090	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	1,192.00	310.00	1,502.00	SQYD	1,502.00	\$19.06	\$28,628.1
	000	01	0100	6229905	MISC.REMOVAL OF DAMAGED PAVEMENT	510.00	-507.00	3.00	SQYD	3.00	\$37.22	\$111.6
Proje	ect JNE004	40 - Tot	al Value	Posted to D	ate as of Report Generated Date							\$1,149,703.0
JNEO			0110	3105002	GRAVEL (A) OR CRUSHED STONE (B)	62.00	0.00	62.00	TONS	62.00	\$170.88	\$10,594.5
	000	01	0120	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	3,004.80	142.23	3,147.03	TONS	3,147.03	\$91.75	\$288,740.0
	000	01	0130	4029910	MISC.REPLACEMENT OF DAMAGED PAVEMENT	70.00	-68.90	1.10	TONS	1.10	\$188.05	\$206.8
	000	01	0140	4071005	TACK COAT	3,362.00	103.00	3,465.00	GAL	3,465.00	\$2.83	\$9,805.9
	000	01	0150	6169901	MISC.LUMP SUM TEMPORARY TRAFFIC CONTROL	1.00	0.00	1.00	LS	0.95	\$5,977.56	\$5,678.6
	000	01	0160	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$1,822.88	\$1,822.8
	000	01	0170	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	36,876.00	0.00	36,876.00	LF	29,501.00	\$0.14	\$4,130.1
	000	01	0180	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	33,589.00	0.00	33,589.00	LF	26,871.00	\$0.14	\$3,761.9
	000	01	0190	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	223.00	0.00	223.00	SQYD	223.00	\$48.11	\$10,728.5
	000	01	0200	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	364.00	184.00	548.00	SQYD	548.00	\$31.21	\$17,103.0
	000	01	0210	6229905	MISC.REMOVAL OF DAMAGED PAVEMENT	180.00	-164.00	16.00	SQYD	16.00	\$41.84	\$669.4
Proje	ect JNE007	78 - Tot	al Value	Posted to D	ate as of Report Generated Date							\$353,242.0
JNEC	0079 000	01	0220	3105002	GRAVEL (A) OR CRUSHED STONE (B)	276.00	-3.00	273.00	TONS	273.00	\$155.17	\$42,361.4
	000	01	0230	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	8,979.20	2,194.60	11,173.80	TONS	11,173.80	\$85.39	\$954,130.7
	000	01	0240	4029910	MISC.REPLACEMENT OF DAMAGED PAVEMENT	200.00	-197.60	2.40	TONS	2.40	\$106.51	\$255.6
	000	101	0250	4071005	TACK COAT	10,032.00	969.00	11,001.00	GAL	11,001.00	\$2.78	\$30,582.7
	000	01	0260	6169901	MISC.LUMP SUM TEMPORARY TRAFFIC CONTROL	1.00	0.00	1.00	LS	0.95	\$10,212.06	\$9,701.4
	000	01	0270	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$14,877.96	\$14,877.9
	000	01	0280	6206000C	$4\ \mbox{IN}.$ WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	108,459.00	0.00	108,459.00	LF	86,767.00	\$0.13	\$11,279.7
	000	01	0290	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	92,909.00	0.00	92,909.00	LF	74,327.00	\$0.12	\$8,919.2
	000	01	0300	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	209.00	0.00	209.00	SQYD	209.00	\$55.02	\$11,499.1
	000	101	0310	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	877.00	-190.00	687.00	SQYD	687.00	\$13.83	\$9,501.2
	000	01	0320	6229905	MISC.REMOVAL OF DAMAGED PAVEMENT	510.00	-494.00	16.00	SQYD	16.00	\$27.92	\$446.72
Proje	ect JNE007	79 - <u>Tot</u>	al V <u>alue</u>	Posted to D	ate as of Report Generated Date							\$1,093,556.0
					rt Generated Date							\$2,596,501.1

Page 6 of 11 Revision 3/23/2023



#### Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

#### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

#### Project: JNE0040

Line Number	Item Code	Description	DWR Date	DWR Approval Date		Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0070	6206000C	4 IN. WHITE WATERBORNE PAVEMENT MARKING	4/22/25	4/23/25	60,014.00	LF	RTE DD- NBL/SBL	3.175		10.297		Pay 80%, pending retro results
0800	6206001C	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	4/22/25	4/23/25	69,509.00	LF	RTE DD- C/L	0.000		10.297		Pay 80%, pending retro results.

#### Project: JNE0078

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0110	3105002	GRAVEL (A) OR CRUSHED STONE (B)	4/16/25	4/17/25	62.00	TONS	RTE D- LT/RT	0.187		3.714		
0130	4029910	MISC. BITUMINOUS PAVEMENT (SURF. LEVEL)	4/16/25	4/17/25	1.10	TONS	RTE D- NBL/SBL	2.567		3.650		
0170	6206000C	4 IN. WHITE WATERBORNE PAVEMENT MARKING	4/23/25	4/25/25	29,501.00	LF	RTE D- NBL/SBL	0.187		3.714		
0180	6206001C	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	4/23/25	4/25/25	26,871.00	LF	RTE D- C/L	0.187		3.714		
0190	6221001	COLDMILLING BIT. PAVT FOR REM OF SURF.	4/25/25	4/25/25	-4.00	SQYD	RTE D- Bridge	2.383		2.402		Pay plan quantity per RE.
0210	6229905	MISC. COLDMILLING	4/16/25	4/17/25	16.00	SQYD	RTE D- NBL/SBL	2.567		3.650		

#### Project: JNE0079

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0220	3105002	GRAVEL (A) OR CRUSHED STONE (B)	4/16/25	4/17/25	132.93	TONS	RTE BB- LT/RT	10.284		7.084		
				4/21/25	126.53	TONS	RTE BB- LT/RT	7.084		0.000		
			4/21/25	4/23/25	10.54	TONS	RTE BB	0.569		3.708		
			4/23/25	4/25/25	3.00	TONS	RTE D- Alan Fiedly Address: 1446	0.490				
0230	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-22H (SUR	4/16/25	4/17/25	2,613.95	TONS	RTE BB- WBL / EBL	3.030 / 0.000		1.773 / 0.000		
0250	4071005	TACK COAT	4/16/25	4/17/25	2,329.00	GAL	RTE BB- WBL / EBL	3.030 / 0.000		1.773 / 0.000		
0280	6206000C	4 IN. WHITE WATERBORNE PAVEMENT MARKING	4/23/25	4/25/25	86,767.00	LF	RTE BB- EBL/WBL	0.000		10.284		
0290	6206001C	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	4/23/25	4/25/25	74,327.00	LF	RTE BB- C/L	0.000		10.284		

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 3/23/2023 Page 7 of 11



## Line Item Adjustments by Estimate

Contract ID: 241018-B02

ject	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0040	0010	GRAVEL (A) OR CRUSHED STONE (B)	Material		2	Apr 2, 2025	SYSTEM	\$43,043.58	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user terrej2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					2	Apr 2, 2025	SYSTEM	(\$43,043.58)	
				- Total				\$0.00	
			Material - T	otal				\$0.00	
			Overrun	Overrun	2	Apr 2, 2025	SYSTEM	(\$10,875.78)	
					4	May 1, 2025	SYSTEM	\$10,875.78	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',153.18000 - 153.18000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - T	otal				\$0.00	
	0010 -	Total						\$0.00	
(	0020	BITUMINOUS PAVEMENT MIXTURE	Material		2	Apr 2, 2025	SYSTEM	\$648,617.51	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user terrej2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
		PG58-22H (SUR			2	Apr 2, 2025	SYSTEM	(\$648,617.51)	
				- Total				\$0.00	
			Material - T	terial - Total					
			Other Item Adjustment	ACAD		Apr 2, 2025	terrej2	\$2,510.80	RTE DD AC price adjustment for estimate 0002.
				ACAD - Tota	al			\$2,510.80	
			Other Item	Adjustment -	Total			\$2,510.80	
			Overrun	Overrun		Apr 2, 2025	SYSTEM	(\$37,894.56)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					4	May 1, 2025	SYSTEM	\$37,894.56	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',94.62049 - 94.74000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - T	otal				\$0.00	
			Price FUEL		2 Apr 2, 2025			(\$1,176.83)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				(\$1,176.83)	
Ļ			Price FUEL	- Total				(\$1,176.83)	
	0020 -	Total						\$1,333.97	
(	0030	MISC. BITUMINOUS PAVEMENT (SURF. LEVEL)	Material		2	Apr 2, 2025	SYSTEM	\$60.46	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user terrej2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					2	Apr 2, 2025	SYSTEM	(\$60.46)	
				- Total				\$0.00	
			Material - T	otal				\$0.00	
	0030 -	Total						\$0.00	
(	0070	4 IN. WHITE WATERBORNE PAVEMENT MARKING	Material		4	May 1, 2025	SYSTEM	\$7,801.82	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user terrej2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					4	May 1, 2025	SYSTEM	(\$7,801.82)	
				- Total				\$0.00	
			Material - T	otal				\$0.00	
	0070 -	Total						\$0.00	
(	0800	4 IN. YELLOW WATERBORNE PAVEMENT	Material		4	May 1, 2025	SYSTEM	\$9,036.17	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user terrej2 overridding Payment Estimate Exception 9 on the current Payment Estimate.
		MARKING							



## Line Item Adjustments by Estimate

Contract ID: 241018-B02

Project	Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks
JNE0040	0080	4 IN. YELLOW	Material	Type - Total				\$0.00	
		WATERBORNE PAVEMENT MARKING	Material - To	otal				\$0.00	
	0080 -							\$0.00	
	0090	MODIFIED COLDMILLING	Overrun	Overrun	2	Apr 2, 2025	SYSTEM	(\$5,908.60)	
		(DEPTH TRANSITIONS)			4	May 1, 2025	SYSTEM	\$5,908.60	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',19.06000 - 19.06000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - T	otal				\$0.00	
	0090 -	Total						\$0.00	
JNE0040 -	- Total							\$1,333.97	
JNE0078	0120	BITUMINOUS PAVEMENT	Other Item Adjustment	ACAD	3	Apr 16, 2025	vierss	\$1,872.48	
		MIXTURE PG58-22H		ACAD - Tota	al			\$1,872.48	
		(SUR	Other Item	Adjustment -	Total			\$1,872.48	
			Overrun	Overrun	3	Apr 16, 2025	SYSTEM	(\$13,045.82)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					4	May 1, 2025	SYSTEM	\$13,045.82	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',91.72341 - 91.75000, 'is applied (if non-zero).
				Overrun - To	otal			\$0.00	
			Overrun - T	otal				\$0.00	
			Price FUEL		3	Apr 16, 2025	SYSTEM	(\$83.59)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				(\$83.59)	
			Price FUEL	- Total				(\$83.59)	
	0120 -	Total						\$1,788.89	
	0140	TACK COAT	Overrun	Overrun	3	Apr 16, 2025	SYSTEM	(\$291.49)	
					4		SYSTEM	\$291.49	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',2.83000 - 2.83000, 'is applied (if non-zero).
				Overrun - To	otal			\$0.00	
			Overrun - T	otal				\$0.00	
	0140 -	Total						\$0.00	
	0170	4 IN. WHITE WATERBORNE PAVEMENT	Material		4	May 1, 2025	SYSTEM	\$4,130.14	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user terrej2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
		MARKING			4	May 1, 2025			
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0170 -	Total						\$0.00	
	0180	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	Material		4	May 1, 2025	SYSTEM	\$3,761.94	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user terrej2 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					4	May 1, 2025	SYSTEM	(\$3,761.94)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0180 -	Total						\$0.00	
	0190	COLDMILLING BIT. PAVT FOR	Overrun	Overrun	2	Apr 2, 2025	SYSTEM	(\$192.44)	
		REM OF SURF.			4	May 1, 2025	SYSTEM	\$192.44	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',48.11000 - 48.11000, 'is applied (if non-zero).



## Line Item Adjustments by Estimate

Contract ID: 241018-B02

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JNE0078	0190	COLDMILLING	Overrun	Overrun - T	otal			\$0.00	
		BIT. PAVT FOR REM OF SURF.	Overrun - T	otal				\$0.00	
	0190 -	Total						\$0.00	
	0200	MODIFIED COLDMILLING	Overrun	Overrun	2	Apr 2, 2025	SYSTEM	(\$5,742.64)	
		(DEPTH TRANSITIONS)			4	May 1, 2025	SYSTEM	\$5,742.64	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',31.21000 - 31.21000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - T	otal				\$0.00	
	0200 -	Total						\$0.00	
JNE0078 -	- Total							\$1,788.89	
JNE0079	0230	BITUMINOUS PAVEMENT	Other Item Adjustment	ACAD	3	Apr 16, 2025	vierss	\$5,093.11	
		MIXTURE PG58-22H (SUR			4	May 1, 2025	terrej2	\$1,555.30	AC adjustment for Route BB on estimate 0004.
				ACAD - Tota	al .		\$6,648.41		
			Other Item	L Adjustment -	Total			\$6,648.41	
			Price FUEL		3	Apr 16, 2025	SYSTEM	(\$227.34)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					4	May 1, 2025	SYSTEM	(\$69.43)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				(\$296.77)	
			Price FUEL	- Total				(\$296.77)	
	0230 -	Total						\$6,351.64	
	0280	4 IN. WHITE WATERBORNE PAVEMENT MARKING	Material		4	May 1, 2025	SYSTEM	\$11,279.71	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user terrej2 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					4	May 1, 2025	SYSTEM	(\$11,279.71)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0280 -	Total						\$0.00	
	0290	4 IN. YELLOW WATERBORNE PAVEMENT	Material		4	May 1, 2025	SYSTEM	\$8,919.24	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user terrej2 overridding Payment Estimate Exception 11 on the current Payment Estimate.
		MARKING			4	May 1, SYSTEM 2025		(\$8,919.24)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0290 -	Total						\$0.00	
JNE0079 -	- Total						\$6,351.64		
Overall - 1	Total							\$9,474.50	

## MoDOT

### Contract Adjustments for Contract - 241018-B02

There are no contract adjustments to display for this contract.

Revision 3/23/2023 Page 11 of 11